* SUBPLATE
HSPC5BU Cetop5 - Bottom Ported - UNF

([s e [clsIBluls) :
I I I I T I M= Alloy T
Hydraulic Cetop5 Bottom Ported H= Steel 0
Subplate UNF P

5

Specifications

Material : Alloy 6061-T6 Steel - S1214

Max. Working Pressure : Alloy - 210 Bar Steel - 350 Bar

Surface Treatment : Alloy - Nil Steel - Zinc Gold Passivation

Port Sizes : P& T-3/4” UNF A & B - 3/4” UNF
Included Components

Socket Head Cap Screws : (Inc. 2 x M8 Nuts) 2 each M8 x 35

Flat Washers : 2 each M8

Technical Details

| Valve Interface Mtg Threads M6 ]

__I IUi 80 C/C
""" fdan\ 5|
""" P ©
L 5 @ ‘
<
5 RO, I8
gz [| " @ @ ‘ 8
~ @ ‘@- |
- - ]
""" At
""" 1 A
492 \
100 O/A Mtgs to Suit M8 x 35 S.H.C.S
— it
- H-- [E—
b A A
74
49
5 A | <P
N B
o T
D _ _
N B BA PT
Projection |20 | Manifold Circuit

@ =

UN Subplate Made To Order

Part Nominal
Number Mass Kg

HSPC5BUH 21
HSPC5BUM 0.7

108 9250 4544 e hma@hydraulicmanifolds.com.au i.ivura““c Man“'olus AllSll‘alla

08 9250 4549  w www.hydraulicmanifolds.com.au




